I (1/cm)

For 1.40e-02 = Q (1/nm) = 7.71e+00

: 5.77e+01 = 2.02e+00 (= 3.49 %)

scaling 4
3.30 %)
7
4,

background: 7.94e+4+00 = 2.62e-01 (£

gof : 5.20e+00 = 1.81e+00 (£ 34.71 %)
accepted : 1.78e+03 = 8.31e+01 (£ 4.66 %)
step : 5.00e+04 £ 0.00e+00 (= 0.00 %)
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- MCcSAS3 fit
—}— Measured data

Q (1/nm)

Vol. frac.
(relative or absolute)

For 5.00e-01 = radius = 3.00e+02, vol-weighted

totalValue: 2.89e-01 = 1.01e-02 (*
: 7.59e+01 = 6.14e-01 (+
5.86e+03 = 1.04e+02 (= 1.78 %)
: 6.94e-01 £ 2.86e-02 (= 4.13 %)
2.26e+00 = 8.27e-02 (+ 3.65 %)

mean

variance :

skew

kurtosis :

3.49 %)
0.81 %)

0.030 A

0.025 -

0.020 -

0.015 -

0.010 -

0.005 A

0.000 -

10°

10!
radius

102

Vol. frac.
(relative or absolute)

For 5.00e+00 = radius = 3.00e+01, vol-weighted

totalValue: 9.98e-02 + 3.00e-03 (*+
mean : 1.29e+01 + 1.18e-01 (%
variance : 2.49e+01 = 1.56e+00 (
skew : 9.71e-01 = 7.07e-02 (%

kurtosis : 4.46e+00 = 1.72e-01 (%

3.00 %)
0.92 %)
6.24 %)

+
7.28 %)

3.85 %)

0.025 A

0.020 A

0.015 A

0.010 A

0.005 A

0.000 A

10 15
radius

20

25

30

Vol. frac.
(relative or absolute)

For 5.00e+01 = radius = 3.00e+02, vol-weighted

totalValue: 1.38e-01 + 4.76e-03 (£ 3.45 %)

mean 1 1.47e+02 £ 1.01e+00 (= 0.69 %)
variance : 2.47e+03 = 1.18e+02 (£ 4.75 %)
skew 1 6.52e-01 =+ 8.05e-02 (£ 12.34 %)
kurtosis : 2.84e+00 = 7.66e-02 (x 2.70 %)

0.0175 A

0.0150 A

0.0125 A

0.0100 A

0.0075 A

0.0050 A

0.0025 A

0.0000 A
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